normalized X?

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

chiz
- Entries 2600
- Mean 1116
: Std Dev 1.204
T |

chiz
2 Entries 3139
10 Mean 1123
Std Dev 1.03

5 chi2
10°F - [Entries 3142
E Mean 112
E Dev 1029

10

16 18 20

X2

1.8

1.6}
1.4
1.2

iy

0.8]
0.6
0.4

[ normalized x? probability |

Ratio

Chiz_prob

F Entries 2600

H M - . |Mean 05138

N N Std Dev 0.3094

0.05f--+ -

: PR

Entries 3139

Mean 0.4982

= |LStd Dev. 0.3157
chi2 Erub

Entries 3142

= | Mean 0.4991

Std Dev 0.3157

- |
0 010203040506070809 1

Prob(x?)

== DQM_V0001_} ROOOOOOOOI G\Obal

e DQM_V0001_R000000001__Global

s DQM_V0001_R0O00000001__Global__|

|__cmssw1000time__RECO
mkFitNewOLD1000time__RECO
__mkFitNewALL1000time__RECO

SRR ”

< X2/ ndf >

Ratio

i

-1
AR(track, jeltS)



	Contents
	Page 1


